XYZ,=96.42,100.0 , 82.49

B,=258, (b,-b,) Y

3= a5 [ (X=X ) /Y
by=byl[z/§

a0=1, by =-04

%= 0,110, B, = 1,000
Crg=[AF+BA

6 OstwaldFarben (o)

von maximalem (m)C,g im
Buntwertdiagram (A,, B,)
Lichtart D50, Y,,=100 Y,=0

Name Bereich X, Y,

N
Ry 570,775 645 g1 o1 bereilazed 5% son
¥ isa 77 ga1a 9404 441 04577 05178573 460
¢ 456,570 1835 5413 437 02369 0100 538 590c
€ 500,570 5160 6008 8244 01817 03440 451 598
6 300 400 1348 015 7624 04377 00028 46 373
W 570-490 78.24 4506 7829 03802 02273 S36ce
Wi380.775 96.42 1000 8249 03467 05505 100%
N30 773000 01 006 03488 03563

2 300,775 1745 180 1454 03457 03695 16%
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Y & Name
Lichtart D50
Y,,=100 Y\=0
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